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PASSAGCE 7

In Britain the weather never gets

too hot or too cold. There’s not much

difference between summer and winter.
Why is it so?
Britain has a warm winter and a

cool summer because it’s an island
country. In winter the sea is warmer
than the land. The winds from the sea
bring warm air to Britain. In summer,
the sea is cooler than the land, The
winds from the sea bring cool air to

Britain. The winds from the west blow

over Britain all the year. They blow

from the southwest across the sea.
They are wet winds. They bring rain to Britain all the year. The west of
Britain is wetter than the east. The winds must blow across the high land

in the west, so the east of Britain is drier than the west,

Choices

( ) L It’s in summer and in winter in Britain.
A. hot; cold B. too cold; too hot
C. too hot; too cold D. cool; warm
( ) 2. The winds bring cool air to England in . N
A, spring B. summer C. autumn D. winter
( ) 3. The weather in summer and winter doesn’t have much difference because

A, there’s no difference between summer and winter
B. there’s sea air around the country
C. there are winds from the sea

D. the winds from the east blow Britain all the year

( ) 4. There’s rain in the east in the west.

A. no; or B. more; than C. less; than D. as much; as
( > 5. Which is the best title (FEEH) for this passage?

A. The Seasons in Britain B, The Weather in Britain

C. The Winds in Britain D. The Rain in Britain




PASSAGE 2

Mark Twain was an American writer. One day he went to a city by

train. He wanted to see one of his friends there.

He was a very busy man. He usually forgot something.

When he was in a train, the conductor asked him for his ticket. Mark
Twain looked for the ticket here and there, but he couldn’t find it. The
conductor knew Mark Twain. She said, “Show me your ticket on your
way back. And if you can’t find it, it doesn’t matter.”

“Oh, no,” said Mark Twain. “I must find the ticket, If I can’t find

it, how can I know where I’m going?”

Choices

( ) 1. Mark Twain was a
A. teacher B. student
C. doctor D. writer
( ) 2. Mark Twain went to the city
A. by plane B. by car
C. by train D. by ship
( ) 3. Mark Twain went to the city to .

A, see his friend
B. buy some papers
C. write his books
D. see his parents
( > 4. When he was in the train, the
conductor asked him for
A. some books
B. the ticket
C. apen
D. some food
( > 5. Mark Twain didn’ t show his ticket

because he couldn’t it.
A. buy

B. find

C. bring

D. know




PASSAGE 7

1t’ s very interesting. By watching

Most children like to watch TV.

TV they can see a lot, learn a lot and know many things about their

country and about the world. Of course they can also learn over the radio.
But they can learn better and more easily on TV. Because they can hear

and watch at the same time. But they can’t see anything over the radio.
TV helps to open children’s eyes.

They learn newer and better ways of doing things.

TV helps to open their minds, too.
They may find the

Many children watch TV on Saturday or
But some

They

world is now smaller than before.
They are always busy with their lessons.
They usually go to bed very late.

Sunday evening.
students watch TV every night,

can’t have a good rest.

Choices

is very interesting.

B. Watching TV
D. Playing games

A, Listening to the radio
C. Reading English
( ) 2. Many children can see a lot and know many things
A. by listening to the radio
B. by watching TV
C. watching TV
D. reading English-
( ) 3. TV can help children open their
A, minds B. eyes
C. speaking D. both A and B
( ) 4. Most children watch TV
A. on weekend evening
B. every night
C. on Sunday
D. on weekend night
are busy with their classes.

A. Many childrens
C. Many children

B. Some children
D. All children




PASSAGE 4

English-speaking people say many “thank you”s every day. Early in
the morning, when a teacher asks a student, “Good morning. How are
you?” his answer should be, “I’m fine, thank you. And you?” This is

the first “Thank you” of a day.

When you hear, “ Your dress is beautiful,” you say* Thank you. I’m
glad you like it. ” At your birthday party, when people give you presents
and say, “This is for you. Happy birthday!” you also answer, “Thank

bed

you. It’s so kind of you.

When you tell people some good news about yourself, they usually
say, “Congratulations!” At this time, you say “Thank you”, too. After
people help you in one way or another, you need to thank them. You

b4

should certainly say, “Thank you.
When you hear people say to you, “Your English is very good. ” how

do you reply?

Choices

¢ ) 1. When a teacher asks you in the morning, “Did you have a happy night
yvesterday?”your answer should be, .
A. “Thank you.” B. “Yes, 1 did. Thank you.”
C. “I’m fine, thank you.” D. “How about you?”
( ) 2. When people say to an English girl, “You look beautiful today. ” She will
certainly say, “ ”
A. Yes, I’m always beautiful. B. No, not at all.
C. Do you think so0? D. Thank vou. I’m glad to hear it.
¢ ) 3.If you win a game, you will hear your friends say to you, “ ”
A. Thank you. B. Congratulations!
C. I’'m glad you like it. D. Happy birthday!
( ) 4. When you need some help, you would say, “ v
' A. Would you please help me? B. Who will help me?
C. Thank you. D. It’s so kind of you.
C } 5. You don’t say “Thank you” when :

A. you hear somebody say to you, “Your English is very good. ”
B. someone gives you a present.

C. you meet an old friend of yours.

D. you hear people say to you, “Congratulations!”




PASSAGE 5

In the past, all letters were sent by train or by ship. Now most
letters still go by ship or by train, but some are sent by air. You send a
letter by air so that your friend may receive it sooner, A letter takes about
twelve days to go from England to India by train and by ship. A letter can
get to India by air in five days now, but soon the time may be made
shorter, At first, people were afraid to send letters by air. They thought
that the plane may fall and their friends may not receive the letters. So
they sent two letters, one by air and the other by train or ship. They
wanted to make sure that the letter would be received. Planes are now

almost as safe and sure as trains or ships. More and more letters are sent

by air.
Choices

( ) 1. Many years ago people sent all letters .
A, by train or by ship B. only by ship
C. only by train D. by plane

( ) 2. A letter by train is a letter by air.
A. as fast as B. much slower than
C. not as safe as D. faster than

( ) 3.1If a letter is sent from England by train, it can arrive in India in
days.
A. five B. fifteen C. twelve D. ten

( ) 4. A long time ago people sometimes thought it safe to send by ship or

by train and by air at the same time.
A. two letters
B. two different letters
C. some letters
D. two same letters
( ) 5. Which of the following sentences is not true?
A. People are not afraid to send letters by air now.
B. Planes are as safe as ships and trains.
C. Now people send all letters by air.,
D. Now people send letters in different ways.
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. PASSAGE 6

If people can not tell all kinds of colours, we can say they are colour-
blind. Most colour-blind people can see yellow and blue, but can not tell
red from green. Only a few persons are blind to all colours, but they may

o

see black and white.

It is interesting that many colour-blind people don’t think that they are
colour-blind — they don’ t know that they can’t see or name the real
colours. This can be dangerous when a colour-blind person is passing by a
traffic light.

Some people are born colour-blind, and though doctors have tested
many times on the reason of colour-blindness, but there is still no good

reason for it at all.

Choices

( ) 1.In this passage the writer says that
colour-blind people can’t tell any colour
most persons are colour-blind
most colour-blind people are not really colour-blind

not many colour-blind people know that they are colour-blind

can only see the colours of yvellow and blue
always sees black and white
is only blind to some of colours

A
B
C
D
( > 2. A colour-blind person
A
B
C
D

is blind to any colours in the evening

( > 3. It is dangerous for a colour-blind person to pass by a traffic light because
A. he can’t see the traffic light B. he can’t see the cars

C. he can only see yellow and blue D. he cannot tell red from green
( ) 4.If you are a colour-blind person .
A. you should be very careful when you are passing by a traffic light
B. you have to go to see a doctor C. you’d better wear a pair of glasses
ID. can only see black and white
( > 5. Which of the following is true?
A. 1f one always makes his eyes too tired, he will become color-blind.
B. The colour-blind people’s parents must be colour-blind.
C. Doctors now have no idea about the reason of colour-blindness.

D. People have begun to find out the reason of colour-blindness.
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PASSAGE 7

In many English homes people eat four meals a day: breakfast,
lunch, tea and dinner.

People have breakfast at any time from seven to nine in the morning.
They eat porridge, eggs or bread. English people drink tea or coffee at
breakfast.

[Lunch comes at one o’clock. Afternoon tea is from four to five in the
afternoon and dinner is about half past seven. First they have soups, then
they have meat or fish with vegetables. After that they eat some other
things, like bananas, apples or oranges. But not all the English people eat
like that. Some of them have their dinner in the middle of the day. Their

meals are breakfast, dinner, tea and supper and all these meals are very

simple.
”
Choices
( > 1. Many English people have  meals a day.
A. two B. three
C. four D. three or four
( ) 2.People may have _ for their breakfast.
A. tea and egg
B. porridge, eggs, bread, tea or coffee
C. tea and coffee
D. bread and eggs
( ) 3.People have lunch at
A. any time B. nine
C. five D. one
( ) 4. People don't have  for their dinner.
A. porridge
B. bananas and apples
C. soup and meat
D. meat and fish
( ) 5. In some English homes dinner can come

A. at one o’clock

B. in the middle of the day
C. at noon

D. at night
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? PASSAGE &
& I.enin learned some English at school. But when he got to England,

L he met some difficulties., He couldn’ t understand the Englishmen and
people couldn’t understand him, either. ILater he found he wasn’t sure
about spoken English and his friends helped him to learn it. He decided to
learn English in all ways. He went on learning English for several months.

At last he learned it quite well. He could make him-understood.

Choices

( ) 1. Lenin learned some English
A. when he was a student
B. after he began to work
C. when he was very old
‘D. when he reached England
( ) 2. At first could understand his spoken English.
A. some people
B. the Englishmen
C. few people
D. all the people
( ) 3. l.enin was given some help by
A. his teacher
B. his parents
C. his neighbours
D. his friends
( ) 4.1t took Lenin to go on learning
English well.
A. a long time
B. many years
C. several weeks
D. several months
¢ ) 5. The best title of the passage is
A. How Lenin Studied English
B. Lenin Was in England
C. Lenin’s Good Friends
D. l.enin’s Spoken English




PASSAGE 9

In England, winter is not very cold and summer is not very hot.

There is not a great difference between summer and winter. Why is this?

Because England is a large island country. In winter the sea is warmer
than the land. The winds from the sea bring warm air to England, so it
has a mild winter. And in summer the winds bring cool air to England, so
it has a cool summer.

The wet winds from the west blow over England all the year. They
bring rain to England, The winds must blow over the highland in the
west. They drop more rain there. So there is more rain in the west of
England than in the east of England.

The four seasons are all three months long. Winter is in December,
January, February. Spring is in March, April and May. Summer is
in June, July and August. Autumn is in September, QOctober and

November.

Choices

( ) 1. In England, summer and winter are .o
A. just the same B. different C. verycold D. very hot
( ) 2. In winter the winds from the sea bring air to England.
A, cool B. cold
C. warm D. dry
( ) 3. The weather is in winter in England.
A. warm B. cold
. C. sunny D. snowy
( ) 4. England has a lot of rain all the year because .

A. there are lots of trees there
B. there are many rivers there
C. winter is not cold and summer is not very hot there
D. wet winds blow over England all the year
( ) 5. Which sentence is right?
A. The east of England has more rain than the west.
B. In summer the sea is as hot as the land.
C. In England any of the four seasons is three months long.

D. There is the same rain here and there in England.




PASSAGE 70

A few days before Mother’s Day, the teacher wanted to know how his
students were going to express their love to their mothers. Some of the
students came from far away to study here. “Are you going home to see
your mother on the coming holiday?” the teacher asked one of them.

The student answered, “1’ m afraid 1’1l have no time to go home
because 1’ m going to get ready for the exam. But 1’1l write a letter to her.”

“Then which do you think is more important, your mother or the

exam?”
“Of course the exam is more important,” answerced the student at

once. “My mother is always saying so. ”

Choices

( ) 1. The teacher thinks should express their love to their mothers on
Mother’ s Day.
A. all the children B. many children
C. just a few D. no children
( > 2. would have a holiday on Mother’s Day,
A. Students B. Mothers
C. Fathers D. Teachers
( ) 3. The student told his teacher that he would express his love to his mother
A. by going home to see her
B. by letter

. by getting good results (%5 in the exam
( ) 4. The student would on Mother’s Day.

A. have many lessons

by buying her a present

oG

B. go back to see his mother
C. be busy getting ready for the exam
D. do nothing
( ) 5. The mother said that
A. the exam was more important than her
B. she was more important than the exam
C. the exam was very important for the students

D. she was very important for her son




PASSAGE 177

The earth moves round the

sun, and the moon moves round
the earth. When our part of the
earth turns to the sun, it is day.
When our part of the earth turns
away from the sun, it is nighr,
The sun is much bigger than

the moon. But sometimes the

moon looks bigger than the sun,
because it’ s much nearer to the
earth.

The sun is very bright, It gives very strong light. The moon looks
quite bright, too, but it doesn’t give any light at all. The light from the
moon comes from the sun.

The moon looks much bigger and brighter than the other stars. But in
fact many stars are much bigger and brighter than the moon. They look
smaller than the moon because they are farther away from the earth.

Choices

( > 1. When our part of the earth turns to the sun, it is in America.
A. day B. night C. sunny D. cloudy
( ) 2. Sometimes the moon looks bigger than the sun because
A. it’s really big B. it’s much nearer to the earth
C. it comes out at night D. it is quite bright
( ) 3. The moon isn’t the biggest among the stars, is it?
A. Yes, itis. B. No, it isn’t,
C. Yes, itisn’t. D. No, it is.
( ) 4. Which is the most important to us?
A. The sun. B. The moon. C. The stars. D. None of above.
( ) 5. Which of the following sentences is right?

A. The moon moves round the sun and the earth,
B. The sun is much nearer to us than the moon.
C. When our part of the earth turns away from the sun, it is day.

D. No sun, no lives.

% &Yy
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PASSAGE 12

Newton was a great scientist. He thought only about his work. One
day he was hungry. He wanted to have an egg. Then he took out an egg
from the box. He wanted to boil the egg for three minutes. But he was
thinking about a problem, so he put his watch into the hot water. He

stood there and waited. When the servant came in, she saw Newton was

boiling his watch, but the egg was in his hand.

Choices

( ) 1. Newton thought only about his work, didn’t he?
A. Yes, he did. B. No, he didn’t.
C. Yes, he didn’t. D. No, he did.

( ) 2. Why did he want to boil an egg one day?

A. He liked to eat eggs.
B. He was hungry.
C. The servant wanted to eat the egg.
D. He wanted to sell it.
( ) 3. Where did he take out the egg from?
A. From the desk. B. From the room.
C. From the bag.
D. From the box.
( ) 4. How long did he want to boil the egg?
A. Twenty minutes.

o

Four minutes.
C. Three minutes.
D. Half an hour.

( > 5. What did he think about when
he put his watch into the hot
water?

A. He was thinking about his
watch.
B. He was thinking about a
problem,
He was thinking about the

e

egg.
D. He was thinking about the

servant.




